
4 8 7 1 18

1 2 0 0

4 5 6 2

0 0 0 0

8 9

答え

答え と

②
5 8 5

2 　    には数字が１こ入ります。

 商が十の位からたつのは、　 がどんな数字のときですか。

①
7 9 7 1

9

4

450 620

18 0

0 0

62

1 8 1

0 0

31 620

4 5 45

468 3 1 6 2 04 5 4 6 8 45

6 2

2 0 20

⑤  468÷45 ④  620÷31

1 0 10

492 780

4 10

1 0 1

78

4 1

12 0

39 790

4 8 48

496 3 9 7 9 01 2 4 9 6 12

7 8

名まえ

1  次の筆算をしましょう。

①  491÷12 ②  790÷39

2 0 204 1 41

16

⑯ 力だめし

目指せ90点！

(各10点)

(各20点)



4 8 7 1 18

0 0 0 0

4 5 6 2

0 0 0 0

8 9

答え

答え と

②
5 8 5

2 　    には数字が１こ入ります。

 商が十の位からたつのは、　 がどんな数字のときですか。

①
7 9 7 1

9

4

450 620

18 0

0 0

62

1 8 1

0 0

31 620

4 5 45

468 3 1 6 2 04 5 4 6 8 45

6 2

2 0 20

⑤  468÷45 ④  620÷31

1 0 10

480 780

11 10

1 0 1

78

1 1 1

0 0

39 790

4 8 48

491 3 9 7 9 01 2 4 9 1 12

7 8

名まえ

1  次の筆算をしましょう。

①  491÷12 ②  790÷39

2 0 204 0 40

16

⑯ 力だめし 答え

1

目指せ90点！

(各10点)

(各20点)


